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PART - A

GENERAL MENTAL ABILITY

1. Ram travels 30 kms. to the North.and 4. 1If all the alphabets in ErlgHSh are placed
then goes 40 kms. to the East and again in the reverse order, then which alphabet
tumns to the right and travels 20 kms. would be the 10" from the left 7
Thereafter he again tums right and i (A) Q (B) J
travels 40 kms. How far is Ram from .
his original place now 7 | (c) P (D) K
(A) 10 kms. 1|
{(B) 20 kms. =7 Light : Darkness : . Knowledge : 7
{(C) 15kms. | (A) Wise
(D) 5 kms. ! (B) Study

: (C) Ignorance

2. A man introduced a woman and said, | (D) Learn
“The mother of this woman is the only
daughter of my mother-in-law". What is _ .
the relationship between the man and 6. In arow of girls, Sila is seventh from
the woman 7 one end and eleventh from the other
(A) Man is the brother of the woman. ig:i ,:_HDW many -girls are, there-in the

Man 1s the father of th an. : |
(B) n !.5 e father of the woman A) 11 B) 18
(C) Man is the husband of the woman.
: (C) 16 M) 17
(D) Man is the son of the woman.
= 3. If the third of a month is a Friday, then 7. E;:;i:viés E::;S .? ext number in the
what would be the day which is the next £ —y
day after the 21* ? 4,9, 16,25,7
(A) Monday (A) 32
(B) Wednesday (B} 53
(C) Tuesday (C) 49
(D) Friday (D) 36
Space For Rough YWork
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(A) HHER 4,9,16,25, 7/
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sENERAL STUDIES

8. Where is the famous religious place 12.  Which is the scheme of Government of
for Jain religion located in Madhya Madhya Pradesh for rearing of
Pradesh 7 silkworms 7
(A) Sidhi &5 ] _ .

mil L
(B) Amarkantak { .
(C) Bavangaja (B) Arunima
GRS Bandla l (C) Kalpavriksh
I

9.  “Bhagoriva” festival is celebrated by [ (D) Amritdhara
tribals of which district 7 I
(A) Jhabua 1
{(B) Balaghat 13, Who is the Chairman of Planning

=] | i e ?
(C) Mandsaur | Commission of India
(D) Shahdol | (A) Manmohan Singh
| L%
L (B) Montek Singh Ahluwala

10. Ustad Amjad Ali Khan is associated |
with which musical instrument 7 | (C) P. Chidambaram <
(A) Sitar ! : ;

Sonia Gandhi
(B) Tabla {25go0mn
(C) Sarod
() Jaranz] 14. ‘Googly’ is associated with which
sport 7

11. Who said, “Freedom is our birth
right.” ? (A) Football =
{A) Vallabhbhai Patel (B) Cricket
B) Mahatma Gandhi
®) s : (C) Hockey
(C) Lokmanya Balgangadhar Tilak
(D) Ravindranath Tagore (D) Volleyball

Space For Rough Work
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TEACHING APT ITUDE

The best way to motivale students 1o

15. Usually, cut fruits and other edible 17. -
items are kept open in handearts outside work hard 15 10
offices. What would you do ? (A) give examples .ui' those who have
: I achieved success: through hard
{A) If you wish, you would get clean g
‘chat’ prepared and eat it. ! :
| (B) give rewards  to hard working
(B} Even if you wish, you would not I students
i A i (C) work hard yourself 80 that
(C) Complain to the Municipality 0 | students are molivated
that sale of open edible items 18 i (D) give lectures on the importance of
stopped. | hard work
I -
(D) You would-go to a neighbouring : -

Restaurant and eat [ood. 18, Your school was elosed for a‘-IﬂﬂEiﬁme
due to disturbances"in the city. There
was loss of studies ot the students.

16. The aggressive behaviour of a child can You o _
be corrected if (A) would teach - the . students
according to the time table afier
(A) child is kept in seclusion for school reapens TR,
sometime
: (B) would call the students at home
(B) the reasons for his aggressive for tuitions
behaviour are investigated (C) give exira time to students after
. ; school hours
(C) the child 1is given strong
punishment (D) give extra home work to students
so that they complete the course
(D) the child is ignored by studying at home
Space For Rough Work
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19. Your neighbour complains that your
son has caused some damage to his
house. You

(A)

(B)

(C)

(D)

will scold the boy in front of your
neighbour

will make amangements for the

boy to play elsewhere

will discourage the neighbour by
supporting your boy

will ask your boy to play inside
the house only and not go out to
play

20. There is a strike by Class IV employees
of your school. You are the Principal. In
this situation, you would

(A)

(B)

(C)

(D)

make alternative arrangements
and till then you would keep the
school closed

arrive early and clean your room
and motivate your teacher
colleagues also to do the same

adopt a sympathetic attitude and
solve the problems of the

employees

suspend the striking employees

21.

How can the health of the students be
improved 7

(A) Imparting knowledge about health

studies

(B) Imparting training to students for

improving health

(C) Explaining importance of health

to guardians " ‘h'h.,
k"

(D) Showing pictures relating  to
health= = =

Which of the'mﬁg__mamﬂm s
more useful to the students for

learning ?

(A) Leaming by doing

(B) Lecture method 2o
(C) Conversation method

(D} Demonstration method

SET-C
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ENGLISH

Which is the correct word for the blank

38. Fill in the blank : 42.
| saw a : of cows grazfng in the in the fﬂ”ﬂ'ﬁ’r‘fﬂg sentence 7
Field. He proposes __ there today.
ng\l] :;m;p (A) having gone
1er : ;
(C) flock ' {gj ::;mng
(D) pack ' (5] S0 S0
| (D) about going
39. Select the equivalent for the following |
 Word:: | 43, What is the meaning of the phrase ?
Heﬁtage : “Srrike when the.._i'lrnn is hot.”
E;‘; {mmd[t? | {A) Act at the right moment.
egacy
©) Estate ! (B) Actat I:hnr T{rng mh:::mfm;. t
(D) Antique | (C) Act when the weather is hot, |
| (D) Stop work when the weather is
40. Select the opposite of the following - hot.
word : I
Pleasure I "44, What is the meaning of the phrase ?
() Pain “To beat about the bush,”
(3) appiness {A) Avoid coming to the point.
(C) Anger S P
(D) Health {B) Hit the bush ln.cut the leaves.
(C) Beat someone in front of the bush.
41. Which is the correct word for the blank (D) Tocome @i{@_tly to the point,
in the following sentence ? -
An is the one who leaves his | 45, Which is the correct spelling ?
country to settle in another country. i Sl
(A) foreigner %
(B) immigrant (B) Tomorrow
(C) emigrant (C) Tomorow
(D) tourist (D) Tamomow
Space For Rough Work
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PART - B
MATHEMATICS

51. Which is the smallest number which

should be used to multiply 6750 so that 54, Ram borrowed a sum of Rs. 9,000 from

the resultant number becomes a perfect a finance company Lo purchase a
cube 7 washing maching at  an annual
(A) 2 compound interest rate of 6%, What is
(B) 9 the total interest that Ram has to pay at
ey 4 ! the end of 3 years ?
(e ; (A) Rs. 719.14
52. What is the solution of the following ? | (B) Rs. 1719.14
1 I : -
3 3 I
{lqu 81" | (C) Rs. 1916.28
(A) 36 Il (D) Rs. 1620.00
By 9 .' —
{C) 4 :
(D) 6 v 55, In a Nationalised Commercial Bank,
what is the interest paid by the Bank at
53. What will be the marked price of a table present in a “current” account 7
if it is sold at Rs. 935 after allowing a
discount of 15% 7 (A) 3.5%
{A) Rs. 1,040
(B) 0%
(B) Rs. 1,000
(C) Rs.950 (C) 5.0%
(D) Rs. 1,100
(D) 4.0%
Space For Rough Work
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56. Five years ago, Shivani was three limes 58. The height of a trapezium is 7 cm and
as old as Radha. Ten vears later Shivani area is 140 cm®, 1f one parallel side is
- g 95 ¢m, then what is- the length of the
would be twice as old as Radha, How other parallel side ?
old are they now 7
{A) 5cm
(A) Shivani’s age 50 years;, Radha's
age 20 years. (B) 20cm
(B) Shivani’s age 90 years; Radha's (C) 15cm
age 30 years. ) 35 cm
{(C) Shivani's age 40 years; Radha's .
age 20 years.
(D) Shivani’s age 65 years: Radha's 59, The diameter of the Moon is
age 25 years approximately one fourth of the
- diameter of the Earth. What fraction is
the volume of the Moon to the volume
of the Earth 7
57. Lengths of the diagonals AC and BD of
a rhombus ABCD are 6 cm and 8 cm (A) i
respectively. What is the length of each 64
side of the rhombus ? 3
(B) 35
(A) l4cm 32
(B) 7em B
© 718
(C) S5cm
1
(D) 25cm D) 3
Space For Rough Work
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56. Or= as o, Rrem wr @ @ A et o |

S7.

TQ oY 95 e ¥ g /g v |

I AAHH Y FTE ?

(A) foamt @t eng 50 a9 ; T F g
20 99

(B) framt :t 3 90 I ; AUT H Y
30 99

(C) Tramt =t 3 40 a9 ; T H 3G
20t

(D) feart @ g 65 N ; [T H Y
2599

T foaue Fivr FEEqs (I=9) ABCD &
F1 (SFHA) AC 3R BD &l oiredr
FHY: 6 GHI. R 8 ¥ € | fawm iy

58.

59.

et e e (o) S
7 At & 3R &R 140 T2 § | AR TH
FARR S 25 9 & at gE AR
ST 31 TS T 2Tt 7

(A) 59l
(B) 20 &
(C) 15,

(D) 35 9H.

TZHT T AT Gl & A H AT TH
S € | THT I A, WAl & 3
I T3 ?

(A)

THIAS (=) H Ted 5T S og 64
FE? i

B) =%
(A) 14 9. 52
(B) 7 9. ©) %
(C) 53 ;
@) 253 D) 3

Fed FW & oo e
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60.  What is the answer if 20 4 72 + 7x + 2 63. What would be the values of x in the
18 divided by 2v + 1 7 following equation 7
a 2 4in
(A) F+2x+2 Ay
(B) x®+3x+1
() 223+ 3x+2 {(A) Bor-6
D) »2+3x+2 (B) —8ord
(C) —-4o0r6

61. What is the length of the longest
bamboo which can be put in a room
9 metres long, 6 metres broad and
2 metres high ?
(A) 21 metres
{B) 11 metres
(C) 9 metres
(D) 13 metres

(D) —6Gord

64. The inner circumference of a ecircular
track is 4400umetre. The track is
14 metre wide. What is the diameter of

the outer circle of the track ?

(A) 168 metres

B e e e e B R TN O S R e G

; 1 24 metres
62, A fraction reduces to 1 when 2 is ®)

substracted from the numerator and 3 is (C) 154 metres,

added to the denominator. But it (D) 98 metres
oS
reduces to 3 if 6 is added to the
AUDEIRIOT and, the % denomungionBie {8 oo B i imetallicizonte hasuhie helght of

multiplied by 3. Find the fraction. 10 cm and the radius of the base is

(A) 2 20 cm. How many spheres of 4 cm
5 diameter can be made by melting it 7
4
®) 3 (A) 140
N 135
1) T (B)
3 (C) 125
2 4 (D) 145
Space For Rough Work
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60, lr3'+'.-’.11+?.r+fﬁ|ﬁ?..t+lﬁqmﬁq1 63, Fefafmaofem g cF T Fmem ?
ST 0 s
’ *+2x=24
(A “+2x+2
(B) 24 3x+1 (A) BH~6
) 22+3x+42 ; (B) -84
(D) x2+3x+2 i ©) -4T6
61, TR HEH T AW I oS 0 A ot et | (D) -6714
T T T A WA & e o 0 die, |
wTSTE 6 Hizt T S 2 vy & 7 | _ A
(A) 21 . T i WS 2% W A Uiy 440 e
':BJHJHHH : & | F 14 TiX 9= £ | 7F & awd Ty
(C) 9= | T S T E ]
(D) 13 ¥R ' (A) 168 H=%
; 1% : (B) 84 ¥R
62. E:W-B?ﬁTEEEﬁId AT IE S FHF % T
3% | 2 Hern W ¥ o tE F A+ i
D) 98
H 3 Ster o1 & |f$ﬁaa°r=1aaiﬂsrm% &
Bl 9 & A @ W S F 6 e o o 5
ST T @1 % A % 37 i 3 F on e . T 3IF U1 & ¥ (1) F1 T 10 A &
=g | &t g st e ? 3 et = e (ifEmm) 20 9 ¥ Tm=
(A) 5 T =2 4 949 % =9 o et =9
: EE Y
(B) 3 (A) 140
©) % (B) 135
. (©) 125
D) 3 D) 145
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66. A person purchases Rs. 4,000 worth of | 68. A ladder is placed in such a way tbat its
petrol for his car every year and he has . foot is at a dista‘ncc of 5 metres from a
bought petrol at the rate of Rs. 5 per wall and its tip reaches a window
litre, Rs. 8 per litre and Rs. 10 per litre | 12 metres above the ground. What is
in these three years respectively. What | the length of the ladder ?
is the average cost of petrol for him for (A) 11 metres
these three years ? |
(A) Rs. 7.06 per litre approximately i (B) 16 metres
(B) Rs. 6.06 per litre approximately | (C) 12 metres
(C) Rs. 8.00 per litre approximately i (D) 13 metres
(D) Rs. 7.50 per litre approximately |

I
: : i " 69. What is the areaof the sector of a circle

67. An aeroplane is flying at a height of 1 which makes an angle of 70° at the
7920 metres. The angle of depression of centre, if thesradius of ‘the circle is
the control tower of the airport from the 18cm?
aeroplane is 30°. What is the horizontal
distance between the aeroplane and (A) 148sg.cm.
control tower ? (B) 164 sq.cm.

Given that
(C) 169 sq.cm.
1 1
sin30° =7 ; cos 30° =5~ ; tan 30° =q—“§ (D) 198 sqg. cm.
and cot 30° = '\ﬁ _
7920 70. Find the median of the following
&) \3 et values :
(B) 7920 x+/3 metres 5, 105377,2;9,6, 2,11
7920
(© —, metres (a2 8
e g
3
(D) 7920 x 5 metres (@)%
([D)i%O
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66. T SafET AT w0 ol wh ad 4,000 F,
1 U AT & ST FHA o 6 5
T 5 v &, 58 ui e Ak s 10
yfer #iee @t 31§ U2E wiEr € | 3% T
GG e e F T A e e 2 e -
(A) % 7.06 Wid =T w0
(B} %. 6.06 Hid #ZT @y
(C) %. 8.00 ¥ ==z Fram

(D) 3. 7.50 ule izt =

| 68, wE w79 vEw @ € fF SEe o fau

s | 5 izt i gl W AT ST gE
Ferer Srame o 12 wew =t Fung w A g

o g | i = e w4

(A) 11k
(B) 16HET
(C) 12 Hiex
(D) 137

67. U EMEAR 7920 HeT W S8 W IT W | 69. T e 39 @ (W) FATw w0
¢ | el &a% 3T o Fie e | IEa | BT 9T =% S Y 707 =0 O 56 AN
T F (T s feEve) 30° B '| et =t = 18 Od e ?

l'lr

;ﬂ'ﬂ:ﬁfﬁﬁ AT F W A R | ok e
N Al g l (B) 164 = 4.
sin 30 =5 cos 30° = 5 || ©) 1692,
mnSD‘;‘:éaﬂ%cntﬂ[}":\ﬁ i D) 198 =7 Fef

7920 o |
(A) ‘\ﬁ ' 70, frefetae it T mitgen (sdifee) F e ?
(B) 7920 x+[3 #=X ' 5,10,3,7,2,9,6,2,11

7920 (A) 6
Oy = HT
(C) 5 o
(D) 7920 xﬁgﬁﬁm ) 7

D) 9
Fod HH % w7
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SCIENCE AND ENVIRONMENTAL STUDIES

71. Which planet is closest to the Sun ? 74. What is the speed of light in air 7
(A) Mercury (A} 3x101°cmfsecond
(B)  Jupiter (B) 5.5x 108 cmfsecond
(C) Venus (C) 6.1 % 10° cr/segond
y .
(D) Satum (D) 3 x 10° cm/second
72. Whﬂi 15 thﬂ ‘:haf!gﬁ in [hﬂ colour of ll.j.ll'- TE. Whiﬂh is_ th'E 'lﬁ!‘_]:u"" found 1n TIVEr
solution when iron nails are put in Ganga which protects the water from
coppert sulphate solution ? rotioning 7. 9
{A) Green to yellow : (A) Bacteriophages
(B) Blue to yellow | {(B) Plasmodium
(C) Yellow to blue I (C) Enram‘;eﬁa’
(D) Blue to green il (D) Trypanosoma
73. What are the constituents of stainless | 76, Which is the equipment to convert solar
steel 7 | energy into heat cnergy ?
1 i e
(A) Iron, Copper, Zine : (A) Solar cooker
(B) Iron, Chromium, Nickel (B) Solar cell
(C) Iron, Aluminium, Manganese (C) Solar pump
(D) Iron, Tin, Magnesium (D) Solar lantemn
Space For Rough Work
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\

fas va vatEsor st

7. godomd s Wk ? T4, FA WA A R 7
(A) Y (A) 3 x 10V aeiaEs
(B) "waiy (B) 5.5 % 108 odt/aFE
) I® (C) 6.1 x 10" TfifEs
(D) o™ (D) 3 % 108 gfiiade
72. e WS T T Tk % w9 § = 75. TR B G A A FIF H S E
& e 3 7 o R A E : Yedlet Stor 5 AT .5
(A) & dem : Gyl
®) e i (1), Pty
(C) Wi ¥ = ‘I e
: (D) fed=rEm
D) FwFE |
|
! 76. H T F A S 8 giated w5 55 5E
73. ‘SR T S IETE A 7 | o IETm R ?
(A) e, dE, S5 (A) I T
(B) e, Fifa=E, Hee (B) W Ew
(C) iter, TfHiEH, (C) Wie”w T
D) a’m.‘?qﬂvﬁﬁmrr (D) W e
“‘t-.. . T I & (0 A
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77. ‘Kadaknath’ is a breed of 80. A “Concave’” lens forms an image of an
bject
(A) Buffalo Qulse
(A) bigger and real
Lo s (B) smaller and real
(C) Poultry (C) bigger and virtual
D) smaller and yirtual
(D) Goat (D)

81. Which gases are found in petroleum
gas ?
(A) Ethane + Methane
(B) Ethane + Propane + Butane

78. How does Ozone gas in the atmosphere
protect the Earth ?

(A) Itis essential for breathing.

(C) Ethane + Propane + Ethylene
(B) Prevents ultraviolet rays from D)

Butane + Acetylene
reaching the Earth.

(C) Prevents sound waves from 82. Which colour has the maximum
reaching the Earth. wavelength in the light of the Sun ?
(D) Helps plants to prepare food. (A) Violet
(B) Green
 (©) Red
79. What is the scale for measuring the (D) Orange

intensity of Earthquake ?

(A) Earthquake Scale 83. Whatis “Anthracite” ?
(A) A type of Parasite
(B) A type of Bacteria
(C) A type of Virus
(D) Richter Scale (D) A type of Coal

(B) Faraday Scale

(C) Seismograph Scale

Space For Rough Work
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77, ‘oI gt wenky ¥ 2 80. “shreper ot & fepelt e 1 fory A @
A) Y (A) =g R ATEI
B T (B) BT 3R Ard(aeh
(C) ST 3R HeaE
(© j (D) BT AR FAF
(D) TR |
| 81. Ugiferas T H i 9t A Bl & 2
g ’ (A) =7+ HET
78. oY HEW W IANHA MW FE THR o Hwo (B) %9 + W + A
T FEl & 2 ' .
.~ | (C) 97 + WO + Tt
(A) TR & [ eavaF & | i (D) = + wafest=
(B) STz fu A e W |
JFAE | r 82, T & W G i aiTee (A=)
A | ! frg Tl er e ?
(C) T i HXe W TgeR A AbA | e
(D) i i HISH S | 7SS Rl § | (B) &
(C) «&
: (D) =R
79. 593! cilerar shi AT i TS T © ?
(A) ITHEF THA 83. ‘TR’ TR ?
®) S wT (A) T YHR H GRiEl
(B) Tk WK I SHIRAT
(C) HIHUTF Thel
(C) T VR FT qERA
(D) ferw=a (D) T Wb 1 e
FHed HIH & [0 e
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84. Out of the three wires used in domestic

wiring, what is the colour of the live
wire 7

(A) Blue
(B) Green
(C)

D)

Black

Red

What is the use of Thrombocytes in
blood 7

(A) Coagulation of blood
(B) Transportation of Haemoglobin
(C) Destruction of harmful bacteria

(D) Help in digestion of food

Which hormone is secreted by the
Adrenal Gland 7

— E—— e 8

o m  m—— E——

87.

88,

89.

What do the plants get from urea
fertilizer ?

(A)
(B)
(C)
(D)

Potassium
Phosphorus
Nilrogen
Zinc

What is
Biogas ?
{A) Ethane
(B) Methane
{C) Propane
(D}

the main component of

Uxygen

Which disease is caused by deficiency
of Todine ?

(A) Goitre
(B) Filana
V). ol B
(D) Rickets

90. How do the roois convey water to the
(A} Insulin leaves 7
(B) Cortisone (A) Through chlorophyll
Through xylem
{C) Thyroxin % ugh y. i
(C) Through epidermis
(D) Oestrogen (D) Through cuticle
Space For Rough Work
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84. NS TR F ey ot ARG A Rregeerm AR | 87 R st @ ot R e A g e ?

PRt Fraare ? ! (A) rferm
B : (B) HERITH
(B) ® i (C) e
(C) T ! @) -t
|
(A | 88. =N A e A 7
| A)
85. I N ulzEl (AEEE) H o ST | (B) T
Bare ? | (©) WA
(A) T W U STHEAT | (D) e
(B) TS T e | 89. ST = welt & T T A S E 2
(C) BIHPRE SFINAT ot T HET | (A) TEX
(D) SIS I TR & e FET | | (B) et
(C) s
(D) fheE
86. TSI AT | HIF W1 & HIfeld erar g ?
(A) i 90. Y i SIS U hi UfET e hd T € 2
B e (A) FARIRS §RT
(B) SISeiH &R
C) gERieET
() © e
(D) TEH (D) HfCHHA §RI
Hed B & [0 T
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SOCIAL SCIENCE

Where is the origin of river Narmada 7

91. The song “Vande Mataram” has been 95.
taken from which book 7 (A) Hoshangabad
(A) Geet Govind (B) Ujsip
(C) Amarkantak
{E] Anandmath (D) ]ﬂhﬂ]pur
(C) Gitanjali :
(D) Deshprem -~ 96, “El_ue R‘fv_‘?']uF"”ﬁ’T is connected with
: which activity ¥
| (A) Milk production
92. Who established Benaras Hindu | (B) Fish production
University 7 | (C) Wheat production
{A) Sir Tej Bahadur Sapru ! (D) Egg production
' khal I
bR GF-paI e e | 97. The term of the“Eleyenth Five Year
{Cj Vir Savarkar J Plan is
(D) Madan Mohan Malviya I (A) 2007-12 (B) 2007-11
! (C) 2006-11 (D) 2005-10
93. Who is credited with the abolition of
the “'Sati" practice 7 i 98, ﬁhatbis T.hifr I;a;:xﬂi;;m?nmnber of the
i embers of L af
(A) B.G. Tilak (A) 530 (B) 550
(B) Gopal Krishna Gokhale (C) 450 M 535
(C} Raja Ram Mohan Roy
(D) Mahatma Gandhi 99. ‘Bauxite’ is used to produce
(A) Zinc (B) Iron
), & : D ini
94. In which State is the Kamakhya Temple LIRS i
situated ? 100. In which State is Paradeep Port
(A) Uttar Pradesh located 7
(B} Kerala (A) West Bengal
(3 Saugn {%i ﬁﬂml} desh
: rd Prades
(D) Bihar (D Onssa
Space For Rough Work
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wreTReE A

it. “ﬁw@%hﬁﬁﬂmwﬁ? 95, =etar et = IETH w4 N 7
(A) Tiig vt (A) e (B) 3
(B) S=NET (C) et P e ) (D) 3|E|E|'i{
(C)_Arisfis 06, i T e WA B 7
(D) A - (A) T IEEA
: (B) _Heeg IraTEd
92, =i firg Feafere Ft wrwE fee W (C) g IereH
L : ‘ : (D) . #iEr e
A) W ATEEET
- N T:jﬁ | 97. TSt ety ST S S
2 z il | (A) 2007-12 (B) 2007-11
© srEm —— (C) 2006-11 (D) 2005-19
(D) W= Hie= JeEtd
A 08, T T % TEET i SR HE 4§ 7
: , q (A) 530 (B} 550
93, “FHl WA IS F1 A7 ferweht S # e e =
(A) ==l e __
(B) T T EE 99, “miFa=e’ TFEH F94 + &g IO
(C) T IE T A 7 —
: (A) =T (B)
HETeAT Tt
= (C) D) uEEREE
94, FEEHRI FE TG AE ] e s G
(C) F&Ed (D) TER (C) =P W (D) Ik
Feel T o 0 7
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It will not be possible to change the markr .bub ‘e
with black ball-point pen; therefoi. <orr ._.
answer should be carefully chosen b~*~e m. -ing
it on OMR Answer Sheet.

nswer Sheet to

Handing over of

. S I ehiern Y | ;

o

(i) Please ensure * -at al’ :ntries in the answer
sheet are fil=d v, .operly i.e. Name, Roll
No., Signatur. Que. ~n Booklet No. etc.

() CANC. ..._~ ~ Z PERMITTED TO
CAPRY ‘WAY THE QUESTION
BOOx ®T » “TH THEM AFTER THE
EXAMIN, ION,

- Care in Handling the Answer Sheet ;

While using answer sheet adequate care should
be taken not to tear or spoil due to folds or
wrinkles.

. ITR-yivz ¥ STaT ™ W ;|

FER-YIE W R [ r{ﬁ TRE N W
T | T, WA 9 e T R R A e |

INSTRUCTIONS REGARDING METHOD At % I AR et
OF ANSWERING QUESTIONS ferdyr
[
(Please use Black ball-point Pen) (@At Black ball-point U+ T ;m’rrmh
1. Method of Marking Answers : . IR 4 T AL
To answer a question, please darken one bubble FAT N A Y AT ;‘%ﬂT ot & weafm
\ ! : ¢
out .nf the given {'91:1, in the OMR Answer Shee e i 5 «;&7 e nr:rmr
against that question. T‘T?T”l g,w
I AT IR | \ \
2. Valuation Procedure : . i Uit : AN
There are four alternative answers to a question, TAFTW . R S IE, 3 !?(1'.{3-73?{1'14’} -
only one of them is correct. One mark will be i -
awarded for each correct answer, if more than € IR (W, W EFF}‘?[ T 3
one bubble are darkened fora question, it will be JI A, HHY AT Tﬁﬁ%’!ﬁﬁa‘qﬁlﬁ%ﬂhﬁm
presumed that the candidate does not know the A T mivereft <Rl o9 1 WEl =AY el HieH @
correct answer hence, na mark shall be awarded. Ry mqﬁﬁﬁw&"r |
3. Cancellation or Change in Answer : I AT F—mammmw :

SO T A e T o o e e e
T T & (9 1 S50 999 76t @ | 334:
SR I T ﬂﬁ%uﬁuﬁmmaﬂm

IHTHIGEH |

() e 3e-ehe i et R |
o ITR-¥iie & ST gt TR 9 et S,
T TR, TEIRK, WYA-GRAS 1 =R, S

Pt T R S-3 WA |

(if) e SR uRtewmet w wv gRew s
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